O A (3x-4)2-2(x-3)2 = 0-Z 2 ] AF7F 7] ax®+bx+c =0
ol B2 Yetd o, ac - b 9 @2 Foto=

Ct-
=

o



o] z}HFA] Al — a9 5L
0] ]-]_00 o/% 3(X 4)2—15—09’] 1 2
o —I—. Sx=a+ VLT, q b

YERE



Fatelet.

=
=

2(x-2)2-18=10 9] 5ff



ieN
=

o, a, b G

Vb 2

+

7 x = -4

15 9]

F A 3(x - a)?
jojet

i1

3

-

ul

2



(x=-32-2=09FT&a. AT W, a+p 9

@ 22 ® 6+2V2



(x=3)2=25

® 5

@ 8



7. OAHAHA 42+ (k+4)x+1=0°] TS 7 o, k 9 S
“Fato2t.

D RS

Bcix=



8. OAFAY X -bx-a=0FTZShH LT W, a+b 9GS

Fotofet.

D
=%



m o] &

s

WA 2 8x 4+ dm = 0 0] TS 2]

~

® 3 @ 4 ® 5

@ 2



~

12— 12x+40 =k 7t = 7FE W, A5k 9

il



